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1. If 𝐶 is the mid point of 𝐴𝐵 and 𝑃 is any point outside 𝐴𝐵, then 

a)𝐏𝐀+ 𝐏𝐁= 𝐏𝐂 b)𝐏𝐀+ 𝐏𝐁+2𝐏𝐂= 0 c) 𝐏𝐀+ 𝐏𝐁 ―2𝐏𝐂= 0 d)𝐏𝐀+ 𝐏𝐁+2𝐏𝐂= 0

2. The vector equation of the line passing through the points (3,2,1) and (―2,1,3) is 

a) 𝐫= 3𝐢+2𝐣+ 𝐤+ λ( ― 5𝐢 ― 𝐣+2𝐤) b)𝐫= 3𝐢+2𝐣+ 𝐤+ λ( ― 5𝐢+ 𝐣+ 𝐤)

c) 𝐫=―2𝐢+ 𝐣+3𝐤+ λ(5𝐢+ 𝐣+2𝐤) d)𝐫=―2𝐢+ 𝐣+ 𝐤+ λ(5𝐢+ 𝐣+2𝐤)

3. The angle between 𝐚 and 𝐛 is 
5𝜋
6

 and the projection of 𝐚 in the direction of 𝐛 is 
―6

3  then |𝐚| is 

equal to 

a) 6 b) 3/2 c) 12 d)4

4. When a right handed rectangular cartesian system 𝑂𝑋𝑌𝑍 rotated about 𝑧-axis through 𝜋/4 in 

the counter-clock-wise sense it is found that a vector 𝑟 has the components 2 2,3 2 and 4. The 

components of 𝑎 in the 𝑂𝑋𝑌𝑍 coordinate system are

a) 5,― 1,4 b)5,― 1,4 2 c) ―1,― 5,4 2 d)None of these

5. If 𝐱 ∙ 𝐚= 𝐱 ∙ 𝐛= 𝐱 ∙ 𝐜= 0 where 𝐱 is a non-zero vector. Then, [𝐚 × 𝐛  𝐛 × 𝐜  𝐜 × 𝐚] is equal to

a) [𝐱 𝐚 𝐛]2
b) [ 𝐱 𝐛 𝐜]2

 c) [ 𝐱 𝐜 𝐚]2 d)0

6. If 𝐴𝐵𝐶𝐷𝐸𝐹 is regular hexagon, then 𝐀𝐃+ 𝐄𝐁+ 𝐅𝐂 is equal to

a) 0 b)2 𝐀𝐁 c) 3 𝐀𝐁 d)4 𝐀𝐁
7. The shortest distance between the straight lines through the points

 𝐴1 = (6,2,2) and 𝐴2 = (― 4,0,― 1) in the directions of (1,― 2,2) and (3,― 2,― 2) is 

a) 6 b)8 c) 12 d)9

8. A unit vector perpendicular to the plane of 𝐚= 2𝐢 ―6𝐣 ―3𝐤 and 𝐛= 4𝐢+3𝐣 ― 𝐤 is

a)
4𝐢+ 3𝐣 ― 𝐤

26
b) 2𝐢 ― 6𝐣 ― 3𝐤

7
c) 3𝐢 ― 2𝐣+ 6𝐤

7
d) 2𝐢 ― 3𝐣 ― 6𝐤

7

9. If 𝑎, 𝑏, 𝑐 and 𝑑 are the position vectors of points 𝐴,𝐵,𝐶,𝐷 such that no three of them are collinear 

and 𝑎+ 𝑐= 𝑏+ 𝑑, then 𝐴𝐵𝐶𝐷 is a

a) Rhombus b)Rectangle c) Square d)Parallelogram
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10. If 𝐷,𝐸,𝐹 are respectively the mid point of 𝐴𝐵, 𝐴𝐶 and 𝐵𝐶 in ∆ 𝐴𝐵𝐶, then 𝐁𝐄+ 𝐀𝐅 is equal to

a)𝐃𝐂 b)
1

2
𝐁𝐅 c) 2 𝐁𝐅 d)

3

2
𝐁𝐅

11. Let 𝐚 and 𝐛 be two unit vectors such that angle between them is 60°. Then, |𝐚 ― 𝐛| is equal to

a) 5 b) 3 c) 0 d)1

12. If 2𝐚+3𝐛+ 𝐜= 𝟎, then 𝐚 × 𝐛+ 𝐛 × 𝐜+ 𝐜 × 𝐚 is equal to 

a) 6(𝐛 × 𝐜) b)3(𝐛 × 𝐜) c) 2(𝐛 × 𝐜) d)𝟎
13. If 𝐚, 𝐛, 𝐜 are the three vectors mutually perpendicular to each other and

 |𝐚| = 1, |𝐛| = 3 and |𝐜| = 5, then [𝐚 ―2 𝐛 𝐛 ―3𝐜  𝐜 ―4𝐚 ] is equal to

a) 0 b) ―24 c) 3600 d) ―215

14. If the area of the parallelogram with 𝐚 and 𝐛 as two adjacent side is 15 sq units, then the area of 

the parallelogram having 3𝐚+2𝐛 and𝐚+3𝐛 as two adjacent sides in sq units is

a) 120 b)105 c) 75 d)45

15. If (𝑎 × 𝑏) + (𝑎.𝑏)2
= 144 and |𝑎| = 4, then |𝑏| =

a) 16 b)8 c) 3 d)12

16. If the vectors 𝑐, 𝑎= 𝑥𝑖+𝑦𝑖+𝑧𝑘 and 𝑏= 𝑗 are such that 𝑎, 𝑐 and 𝑏 form a right handed system, 

then 𝑐 is
a) 𝑧𝑖 ―𝑥𝑘 b)0 c) 𝑦𝑖 d) ―𝑧𝑖+𝑥𝑘

17. The vectors 2𝑖 ―𝑚𝑗+3𝑚𝑘 and (1 +𝑚)𝑖 ―2𝑚𝑗+ 𝑘 include an acute angle for

a)𝑚=―1/2

b)𝑚 ∈ [―2, ― 1/2]

c)𝑚 ∈ 𝑅
d)𝑚 ∈ (―∞, ― 2) ∪ (―1/2, ∞)

18. If |𝐚| +3, |𝐚| = 4, |𝐜| = 5  and 𝐚, 𝐛,𝐜 are such that each is perpendicular to the saum of other 

two, then |𝐚+ 𝐛+  𝐜| is

a) 5 2 b)
5

2 c) 10 2 d)10 3

19. For any three vectors 𝑎,𝑏,𝑐, the vector (𝑏 × 𝑐) × 𝑎 equals

a) (𝑎 ∙ 𝑏)𝑐 ―(𝑏 ∙ 𝑐)𝑎 b)(𝑎 ∙ 𝑏)𝑐 ―(𝑎 ∙ 𝑐)𝑏 c) (𝑏 ∙ 𝑎)𝑐 ―(𝑐 ∙ 𝑎)𝑏 d)None of these

20. The vector cos𝛼cos𝛽𝑖+ cos𝛼sin𝛽𝑗+ sin𝛼𝑘 is a

a) Null vector b)Unit vector c) Constant vector d)None of these
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